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Answer all the questions in the spaces provided.

1. Study the information below and then answer the questions that follow.

Gemma Thomas has always been interested in jewellery design
and has been making items of jewellery for her friends. She has
decided that the time is now right to set up in business, selling
the jewellery she designs and makes to the general public. She
has decided to call her business Gems. Gemma buys her stock
from Jewels Ltd.

(a)  When Gems buys stock from Jewels Ltd a number of documents will be used. These
include:

Delivery Note ~ Purchase Order Remittance Advice  Statement of Account

Credit Note Sales Invoice Receipt Goods Received Note

Identify which document would be used in the following situations by writing the name
of the document in the space provided. [6]

(1) Jewels Ltd sends this document to Gems when the order is despatched.

order.

(iv) Jewels Ltd sends this document to Gems at the end of the month to inform them
how much is owed.
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(v)  Gems sends this document to Jewels Ltd with its payment. o
(vi)  Gems receives this document from Jewels Ltd when it has returned goods.
(b)  Explain why a Purchase Order should be signed by the person in charge of purchasing.
2]
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Gems sends the following Purchase Order to Jewels Ltd. o

Gems Tel: (0243) 739486
Queen Street Fax: (0243) 739487
Swansea
SA3 4FH
PURCHASE ORDER

To:

Jewels Ltd Order No: 9310

Treforest Industrial Estate

Cardiff Date: 13.12.2012

CF54 3YQ
Quantity Description Item Ref: Un12£};r1ce
10 boxes | Assorted Beads 30mm AB30 30.00
5 boxes Large Silver Settings LSS4005 45.00
Authorised: G Thomas Delivery: Next day

VAT Registration Number: 78654320

Complete the following Delivery Note which will be sent with the goods, by completing

all the shaded areas. [6]
Jewels Ltd
Treforest Industrial Estate
Cardiff
CF54 3YQ
Delivery Note No. DN4541
To:
Your Order No: Delivery Date:
Quantity Ref No. Description
10 boxes AB30 Assorted Beads 30mm
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(d)  Gems discovers that two boxes of the Assorted Beads 30mm are damaged and they o

are returned to Jewels Ltd. Using this information, complete the Credit Note below by

completing all the shaded areas. [7]
Jewels Ltd
Treforest Industrial Estate
Cardiff
CF54 3YQ
CREDIT NOTE
To:

Gems Invoice: 4671
Queen Street Date: 15.12.2012
Swansea
SA3 4FH Your Order No: 9310

Quantity | Description Item Ref: Un1‘z£f)’rlce Tota(1£§3rlce

010005

4702

Assorted Beads 30mm

Goods Total

VAT @ 20%

Total Credit
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(e) Jewels Ltd gives Gems a trade discount on goods it orders. [3] o

(1) Define the term “trade discount”.

(i) Explain why Jewels Ltd gives trade discount.

(f)  Gems usually pay Jewels Ltd by cheque. However, it pays some of its other suppliers by
debit card or credit card. Explain one benefit to Gems of using each of these methods of

payment. [4]
(1) D@Dt CALA ..o
(1) COAIE CATA ..o
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(g) Gemscompletes a Remittance Advice Slip. Explain why Gems completes and sends this
document. 2]
(h) Gems is considering installing a computerised accounting system to assist in the
management of the documents it uses to make a business purchase. Evaluate the
usefulness of such a system to Gems. [6]
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2. Study the information below and then answer the questions that follow. o

Sam completed his university computer course two years ago
and decided to set up his own business installing and repairing
computer equipment, using his savings of £5000 to buy
equipment. He called his business Gigabytes. Gigabytes made a
profit of £10000 in the year ending 31 March 2011 and £12 500 in
the year ending 31 March 2012.

Sam has now decided that the time is right to start selling
computers and computer software. In order to be able to do this,
Sam will need to borrow money.

(a) Before going ahead and expanding the business, Sam will have to consider the financial
health of Gigabytes. To help him do this, he will need to draw up Balance Sheets for
Gigabytes for the last two years that he has been trading.

Two items that appear on the Balance Sheets are Fixed Assets and Current Assets. [4]

(1) Define a Fixed Asset.

(i)) Give an example of a Fixed Asset.
(i1) Define a Current Asset.

(iv)  Give an example of a Current Asset.

© WJEC CBAC Ltd. (4702-01)
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(b)  Sam will also need to know the difference between a debtor and a creditor. o

Define and give an example of these two terms for Sam. [4]

(1) DIEDEOT e
EXQIMIPIE oo

(I1)  CT@AIEOT oo
EXQIMIPIE oo
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Gigabytes’ Assets and Liabilities for 2011 and 2012 are noted below.

10

Item 2011 2012
£ £
Equipment 3500 4500
Stock 2000 3200
Debtors 900 1000
Bank 200 300
Creditors 800 700

www.xtrapapers.com

Using these figures and those given in the information at the start of Question 2, complete
the shaded areas of Gigabytes’ Balance Sheets as at 31 March 2011 and 31 March 2012.
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Gigabytes
Balance Sheets as at 31 March 2011 and 31 March 2012
Ttem 23)311 2(;,)612
Fixed Assets
Equipment 3500
Current Assets
2000 3200
Debtors 900 1000
Bank 300
3100
Current Liabilities
Creditors 800 700
Bank Overdraft 0 0
700
Net Current Assets 2300 3800
Total Net Assets 5800
Financed by:
Opening Capital 5800
Net Profit 10000
15000 18300
Drawings 9200 10000
Closing Capital 5800 8300
© WIEC CBAC Ltd. @702-01) Turn over.
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(d) Sam has been advised that he should use Accounting Ratios to help him interpret his o

financial statements.

(1) Using the information given about Gigabytes and the formula given below,
calculate the following ratio for both years his business has been trading. (You are
advised to show your workings.) [4]

Return on Capital Employed (ROCE) = Net Profit
Capital Employed

(1) Name a stakeholder who would be interested in the information gained from
ROCE. (1]

(e) In order to get a more complete picture of his business, Sam should also calculate the
Current Ratios and Acid Test Ratios for his business.

Using the relevant information from Gigabytes’ Balance Sheets for 2011 and 2012 and
the formulae given below, calculate the ratios by completing the table below. (You are

advised to show your workings.) [4]
Ratio 2011 2012
Current Ratio = Current Assets 6.431

Current Liabilities

. . _  Current Assets — Stock )
Acid Test Ratio Current Liabilities 1381

© WJEC CBAC Ltd. (4702-01)
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(f)  Consider all three ratios that you have calculated (ROCE, Current Ratio and Acid Test o

Ratio) and advise Sam whether he should go ahead with his proposed expansion.  [§]
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3. Study the information below and then answer the questions that follow.

John and Joe intend to set up Gulliver’s Travels in order to
provide a planning service for tailor-made holidays. They intend
targeting customers who have both the time and money to enjoy

this type of holiday.

They estimate their costs as
follows:
Fixed Costs = £2000

per month
Variable Costs = £50

per person
Average price = £150
for their services per person

(a) John and Joe plan to construct a budget for the first year of trading.
(1) Whatis a budget? [2]

(i) State three advantages to John and Joe of preparing a budget when they set up
their business. [3]

© WJEC CBAC Ltd. (4702-01)



www.xtrapapers.com

15

BLANK PAGE

© WJEC CBAC Ltd. (4702-01) Turn over.



www.xtrapapers.com

16

Examiner
I
(b)  Before going ahead with the venture John and Joe have been advised to calculate their o

break-even point. In order to do this they will need to know the difference between
Fixed Costs and Variable Costs. They have identified the following costs:

rates, holiday brochures, insurance, heating and lighting, advertising, rent.

Classify the above costs into Fixed Costs and Variable Costs by placing them in the
correct column in the table below. [6]

Fixed Costs Variable Costs

(¢)  Using the information given at the start of Question 3, complete the shaded areas in the

table below. [3]
Customers per month Fixed Costs | Variable Costs | Total Costs | Total Revenue
®) ®) ®) ®

0 2000 0 2000 0
10 2000 500 1500
20 2000 1000 3000

30 2000 3500 4500
40 2000 2000 4000 6000
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(d)  Using the information from the table in 3(¢) construct a break-even chart on the graph !
below. All the lines must be clearly labelled. [6]
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(e) (1) State the number of customers Gulliver’s Travels must have to break even. [1]
(i) Label the break-even point in your chart (d) above. [1]

(ii1)  State the profit or loss the business would make in a month if it had 30 customers.

2]
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(f) (1) State one course of action John and Joe could take if there was an unexpected o
increase in costs. (1]
(i)  Explain the impact of your chosen course of action on Gulliver’s Travels. [2]

(g) John and Joe plan to draw conclusions from their break-even calculations. What
limitations of break-even analysis would they need to consider? [4]

END OF PAPER
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